M .Lom Pc\\ch’j’ Macto Ewmamtc«j CODL&Pt‘s
il quq\g@,mb Pnd HPP\ic_thOﬁ

Loy -L- Q-O Jesla9:
Time: 2 Hours Marks: 60

Instructions: 1. All questions are compulsory.
2. Draw a neat diagram wherever necessary.
3. Figures to the right indicate full marks.

Note: As this examination will be conducted offline, students will be grahted an
additional 30 minutes.

Q. No.1. Select the egrrect answer and rewrite the Sanie._ 30 mai;ks)

1) Per Capita income is calculated by dividing national income by~
a. Wage rate  b. Interest rate ¢ Population d. Nominal rate

2) When depreciation is deducted from GNP, the- nct Value i§ ——mmmmememe e
a. NDP b NNP C: dlsposable income - d. borrowcd mcome '

3) Human development concept wa'S"dévelbped by

a. Keynes b. Marshall . - C; Pigu_e' =.L'-(i‘..fMahbﬁl.3-al-Haq
4) Human development report s, releascd b"" gk ". s, ¥ ;
a.UNCTAD b. Waorld, Bank. S IMF ';d.‘UNDP
5) Countries with HDI value below 0. 5 are oons1dc£edto have ----------------- a level of
human dcvclopment SN S5
a. High ; '_ b. Vcry htgh % c!giudemw iLow
6) Theory of PPP is propouudcd by ‘5‘_

a. Brahmadanda b.Keynes  c.Casscl Gustav. * d. Marshall

7) Disposable income = Income -

a. W;altﬁ tax S bIncome‘tax : cCapﬂal gain d. Property tax

‘tcrsect is called
a. Total Dcmand be‘rﬁﬂ’eatl edemand €. Inﬂauonary Gap  d. Market Demand

8) The point whfm AI)F mldAS: in

9) The aggre gate supply eﬂrve slopcs
o Upward hﬁdownwards <. Honzontal d. Parallel to Y axis from the beginning

10) explams the rclatlonshlp between unemployment rate and inflation ta.te,
Sy Engel CurVe b Offer curve  c.Demand Curve  _d. Phillips ctirve

I1yIndthe... 5% Piulhps curve is vertical. ;
*a. short run . 9 long run  ¢. medium term ~d. very long run

12).J] M Keynes theory is applicable in the----
a: short run b longrun  c. short to medium  d, medium to long rup
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13. Keynesian macroeconomics concentrated on of the market.
a. Supply side . /b. demand side c.Bothaandb d. saving side

14. The curve which is a schedule of minimum amount of proceeds required to pr0v1de. Bk
various levels of output is called. . . Tl e
_a Aggregate supply b. Aagregate demand i Unemployment d. Total spendmg A

W
15} mimnniartin presented an empirical theory of i_nﬂati_ﬁ is known as the Phﬂlipsu‘qufve_
a. J.M. Keynes b. Adam Smith ¢. David Ricardo &AW, Phillips
16) curve shows the goods market equilibrium. =~ =
La’1s b.LM ¢. Demand d. Supply

17) The slope of the LM curveis . :
a: Positive b. Indirect c. Zero - d. Negative
18) __ markets are in equilibtium whcn IS curve and LM cur\}é‘ihtersect
a. Goods and capital Jb-Goods and money E: Money and Capital cl Foreign Exchange

19) will cause the IS curve to shift to the. left
a. Increase in government spending : b ]ili:rease ifi taxes
c. Increase in transfer payments = d"’Dechase in Taxes

a. Monetary b Fiscal ¢ Fq_rg_;_gg:E ch »_;“Itic?o'ri_ie

21) is an instrument of fiscal policj.
a. BankRate b.CRR ¢ OMO'

22)  model is helpful to analyze the cffcctlveness of both monetary and fiscal policies in
the economy.

', a7 IS-LM - - b Aggregate demand e Aggrcgate supply d. Input-Output

23) Foreign d]rect mvcstmcnt isa part of : ;
a. Trade accomit \«h Capital aceount  -c. Current account «dExpenditure Account

24 Expendlture sw1tchgf;g pqhﬁles ’cn correct BOP deficit include of .............
- a Increase in ra:ce of mWegt, ~y.0. b, Appreciation. c. Revaluation  .d” Devaluation

ZS)LO“mgngﬂmr
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alu of-demestic currency against foreign currency by the government is

b, Depreciation .c. Devaluation . Appreciation

F el 26) Whjch of the fallomng 1§ not a component of the Balance of Payments?
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,a. Real account b. Current account  c. Capital account  d. Trade Account
27) When payments of foreign exchange are more than receipts, then the Balance of
Payments is _

a. Surplus b. Deficit c. Balanced d. Zero

28) Deprcmatlon of currency takes place through ..............0...0

a. Government b~ Central bank c. IMF ﬂaMarket forces
29) To correct inflation and deficit both monetary and fiscal policy should be ..........
& Cheaper b. Expansionary c. Neutral ~ d. Contractionary ;

30) Devaluation results in ................

a. Immediate Increase in Domestic Price | b. Cheaper imports
¢. Cheaper exports d. Costly Exports
Q. No.2. Answer any one of the iollowmg AL e (7.5 marks)

A. What do you mean by national income? Explain its features.
B. Bring out the relation between nomjnal and real interest.
C. Explain the concepts of HDI and vartables mcluded init.

Q. No.3. Answer any one of the lollowmg Aaisr g @ S _: (7.5 marks)
A. Explain the detem]mants of aggregate demamd Y8 -
B. Write a note on mﬂatlonary BAP < D S
C. Examine the behavmur of long run Phllhps ETIIVC
; i St 3
Q. No.4. Answer any one of the following. A ,"""'P?q A (7.5 marks)

A. Explain the derivation of IS Curver S ‘_'_ S,
B. Discuss the causes for shiftin LM urv;:. S ot
C Wnte a note on s LM in Indla 53 A

Q. No 5, Answer any one of the followmg 3 7 (7.5 marks)
A. Explam the concept of Balance of payments disequilibrium in an open economy.
B. Discuss Mundell-F lemmg modei in brief.

C. Explain the cffecﬁveness of dc—valu.mon with J-curve.
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